071973-Instructions-V2.jpg (JPEG Image, 2720 x 3849 pixels) - S... https://www.pyramid-plastics.co.uk/downloads/fitting_instructions...

e = ) A\

071973 Honda NC700 s & X / NC750 § & X Hugger Fi

Kit includes:

1X " Mounting Bracket CFK071973
noy T 2XTTME X 16mmBolts CBOL0251

2X°M5 X 12mm Bolts CBOLO110

2X " Rubber Grommets ZCGROC013

2X - Mé X 8mm Steel Collars — CGROCO16

1X . M6 Steel Washer —— _CWAS020]
72X M5 Plastic Washers “CWAS0100

o Firstly remove the OEM Chainguard. The OEM bolts removed here are not used in the
assembly of the Pyramid Hugger.

Remove the rear most meunting point of the brake hose guide situated on the right-hand
side of the swingarm. The Mounting Bracket fits undernecath this brake hose guide, (see Fig 2)
be sure to place the Mé Steel Washer inside the mounting point (marked RED in Fig 2) before
refitting the brake hose guide on top of the Mounting Bracket. This prevents the OEM bolt
from crushing the brake hose guide.

e Atiach the Pyramid Hugger & Mounting Bracket using the 2X M5 X 12mm Bolts & 2X MS Plastic
Washers.

Finally fit the chain guard side of the Pyramid Hugger using the 2X Mé X 16mm Bolts, 2X Mé X
8mm Steel Collars & 2X Rubber Grommels. It is always advised to loosely fighten all mountings
before fully tightening.

e Check all fixings periodically.

OEM Boli? //
: ]ose Guide

Mé Steel w::sher

modY

Follow us on social media and feel free fo leave us o review!

lofl 11/07/2019, 11:13



